smogg | AITETE Sl

H = - — 7
ﬁﬂ\l\2\3\4\%é\5\6 *7‘-)( l*.] 'fT $’ T C§74L\%§TE‘§=F‘§
ZREArFE
REKRE
2R E
RERE
ZRErFE
REKRE
RERKE
BERE
BEF HER
KEEF | K2 o 15:05
= ER HFEEHTZ
* [ #5428 | R O 16:05
HEE &RF
\,f‘;|234¢§r56 O | 6:05
SSW
K AD B
™ 2FFFE 2 (5FR)
1123|4556 | 6:05
L]
A 12]3]4%|5]% O 15:05
= eh—FEERHA
AOHREZARAE (I1F)
*|112|3/45%|5|6 O 1 6:05
ICT
|23475\(56 O | 6:05
" SC SSwW




RO IUFEER P ER

= B — — -

E EE ‘|‘2‘3‘4‘:{f@‘5‘6 *’X l*_l 'fT $‘ '|I: Cy/rL\r‘ﬁ%TH%Fﬂﬁ

18|+

19| g
% IR HEENABIIEE (6/R)

20| 8y 6/5 43 % 2|1 O 16:05
N AILFFRHEE NE

2|x§'234*56 15:35
TR NG| 257 ) — K 15:50~

22| %[ 1234 %5 * @ 15:05
- Y

23|#fy 112/3 4 %56 O 16:05

SC #Bf}<vA X9 —

24§EI234ﬁ56 O 16:05
= sC

25|+

26| 8
™ ABBEETO 754 (1RR)

27|B g 112/3 4% 56 O 16:05

28%5I234*56 16:05
o ICT

zqm§|234*5* O 15:05
o BEL
% * 7 vtk o

30|&|4 1|2|3|4] 5 6|&MEES O 15:35
[=]=} SC

3|@§|234*56 O 16:05

SSW
I

4 ) HE Hoam N

PRE= (4H) RUEBAS (4,0H)
I —MANREHIEE (58)
SH—FERERHA (58, 198)

I —ENE (68)

ANFHEAS (78)

BFEEAHTR LD (13R8)

BMEE2 (278)

BEXRFZ b (25.268)




